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ff'ouem SI'MP';F) Sin (20.)

cos (10°)
We have sin (20%) - jls»’n (lO") Cos (10")
Cos(10*) Cos (109
= 2sa(l0)

E’lug E\/Muo«k fan(ll)') X (an(lo')x-.. X “an(SO')
We haove
Ean(10°)x 6~ (207) x-~ ¥ Fan($0°)

= an(l()') ; SN (20-) e % 31‘4(80‘) @
Cos (190%) tos(20°) s (30°)

Note that Sinl(c) = cos(90- x)
We rewrte ® s

sin(19°) _ sinl20) __ sia(80)

Cos ($0) Cos (") cos (10°)

= | XIx---x| = |

Pfouﬂn Wrik



[sin(137) + sin (167°)+ Cos(13°) + o5 (167)]

xfsh(l}')- sin(16F) + cos (13°) - cos (167:.)]
in the Form @ Sia(x")

Noke +hat 13+ 16F = 180
We will a,op’) He 1deatihes

Sin(1§0 - ») = Sin(%)
ond cos(180 = x) = =~ces(x)

So the product can be rewnflea o
[sia(13°) + sin(13°) + cos (13°) = cos(13")]

X [5ia(13°) = sin (13%) + o5 (13%) + Cos(139)]
= [25ia013))[2 cos (139 ]

= 12 sial26")
Find x if Taa () = Taa™'(4) + Tan"(6)

(Nol = Tan™' denckes the principal value ]

we a Pp‘j 'kav\ "" LO""\ S l‘de’ +eo OL Faia

fan(Tan"(:L)) = tan(Tan"' (4) + Tan"“/)



N % = fan(Ta"'(4)) + tan(Taa™'(6)

|- tan (Tan'(4)) tan(Tan(6))
Usif\g the reult

6an(l+_7) = tan(n) + éam())
| - Ean () é‘ﬂn(b)

x = U+b6 = 10 = -0
| - bxg |1-24 273

Grven that  Sialx) + cos(d) = \r‘?; and
XE [O, T ), Fl‘ncl %

We have (sialn) + C'oS(’l))1 = 1

D §iat(1) & Lsal(x)Ces (%) + Cos(x) = }z‘
= | + sinl2x) = %.

=D sial2x) = }i -1 = "i

=) 2x = S,‘nd'(“i)

— - \ .. -
= x = ESIA'({)
= 1.7 1, =
r 6 ' 6
=T, 1L
R |2



ND"e . 6!\/@\ G Valb\G Lar S (7‘) p COS‘I),
WE can wuse the pro cp_aluf( alove v Frad x
Find the value of

Sin (10°) + Sin*(207) +-- + Sin-(907)

We kauc sin(x) = c,os(qo--;c)
S0  Sin(10) = cos(%0)

Sin (o) = Cos(70)

sin(30) = cos(60)

sin (40) = cos(5o)

Sint(10) + --- + Sin (%0)

v 3% (F0) + Cot(60) + co3%(Sb)
+ ani(go) + sn‘,."(£o) 4 s,'n"(?o) >
4 51“01(QO)

- + |+ s |+ 1 (Sv'z\ge 5)'«\(610‘) = ')
=65
GFI'VCA Jrl\e *ruan ‘C ABC lIWH" Sm‘t 1/, 0'0/05'

LA ek, TFiad SM(A)’I' sin (28) + sin(3C) iF
a=3 b=k c=95.



A 3"‘!'5 "'hbmj,e 1S fl"h)’-anjled:

NDNG We have  sin(A) = 23.
¢ : A Since C= g, we have
3¢ = 2 aad 5o sia(3¢) = -1

Fraolly,  sin (28) = 2 sin(B) cos(8B)

=1 (3)- (3)

= 2
25
go $iA(A) + SM(?.B) + Sia (3() = % + g -

A

S



